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Finding Radicals on a Numberline Name:
Deter mine which letter on the numberline best representstheradical. Answers
1) 7 8 9 10 11 12 13 )
A/ « o—+0 | o— | | : :
L a b c d
2.
2) 4 5 6 7 8 9 10 ,
A/ « | o—t | o——o0—+-o0 | :
o8 a b c d
4.
3) 7 8 9 10 11 12 13 i
<«+—o0 : : : o O—O :
142 a b c d
6.
4) 6 7 8 9 10 11 12 ,
“+—o0— | O—+0O —o0— : :
10 a b c d
8.
5 5 6 7 8 9 10 11
/57 ++—0 : ——o—+o : : oH> 9
a b c d
10.
o) 5 6 7 8 9 10 11
A/ « I O0—+—0 O - 0—| |
95 a b c d
7) 4 5 6 7 8 9 10
A /28 <+-O —O f f f O f Oo—»
a b c d
8) 5 6 7 8 9 10 11
A/ <+«+—0 o FO | | FO |
103 a b c d
9) 4 5 6 7 8 9 10
A/ « | o o— O R— |
68 a b c d
10) 9 10 11 12 13 14 15
A/ « o—+0 = = o— FO =
106 a b c d
1-10 90|80 70|60 |50]40]30]20[10] O |
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Finding Radicals on a Numberline Name: Answer Key
Deter mine which letter on the numberline best representstheradical. Answers
1y 7 8 9 10 11 12 13 g
A/101 « O—+0O } o— } } } 1
a b c d
2 b
2) 4 5 6 7 8 9 10 c
A/58 « +——0— : O—+—0—+0 : 3
a b c d
4 d
3) 7 8 9 10 11 12 13 b
~/142 “+—o0— : : o Oo—o0 : 5
a b c d
6 b
4) 6 7 8 9 10 11 12 b
110 “+—o0— I 0—+0 —o—t I £
a b c d
8 d
5) 5 6 7 8 9 10 11 c
/57 <« : ——0—+0 : : o> 9
a b c d
0. D
o) 5 6 7 8 9 10 11
A/ « —O0——F+—o0 O —0— :
95 a b c d
7) 4 5 6 7 8 9 10
A /28 <+-O —O f f f O f Oo—»
a b c d
8) 5 6 7 8 9 10 11
A/ <o o FO | | Lo |
103 a b c d
9) 4 5 6 7 8 9 10
A/ « : o— o— o —oO |
o8 a b c d
10) 9 10 11 12 13 14 15
A/ « o—+o0 : | o— O |
106 a b c d
1-10 [ 90]80|70|60[50[40[30|20|10] O |
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